
Challenge Problem : To make Pascal 's Triangle , we used
the identity cfn ,k) = ((n- I , k- t) t C(n- I , k)

Justify thetqomy.sc#C94) using counting
argument .
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Example : Social Security Numbers . 9 numbers , rep allowed

a) How many w/ no reputed numbers in them ?

P( 10,9)
→ ex a- E E E E E e e

b) How many SSN 's w/ at least one repeated number?
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c) How many SSN s w/ exactly repeated digit (showing up twice?
(ex: 213987156)

choose spaces →
Fill in rest of

w/ repeated digits
→ PDI#those numbers

SpaceX49,21×10×149,741-
-

nogs: ftp.sit-sfoickmpufigits.I.nnsftnudmigitu
p(10,8) x 8 × 10 123→ 123 1

Overcounted
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Examples : Billy has 43 baseball cards
, Scottie hes 36

.

How many ways can they
make a 2-2 trade

((43,2) X 436,2)

sets : > / ( Billy
's cards

selected from :
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Example : Sequences of 4 letters (order matters)
.
How

many
sequences contain

E 2 A 's
. Repetition is allowed
-

264 = Total number of sequences
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